
.. 

CHMISI 825 Pts Fall 2016 Name: ----1)<~....:..:%1----,,,..-==---------
l. (3 Pts) The reaction that represents the standard enthalpy of formation for acetone (CH3COCH3), a 

mmon ingredient in nail polish remover is: 
3 C(graphite) + 3 H2(g) + Yz 02(g) ~ CH3COCH3(1) 
6 C( diamond) + 6 H2(g) + 02(g) ~ 2 CH3COCH3(1) 

C) 3 C( diamond) + 3 H2(g) + Yz 02(g) ~ CH3COCH3(1) 
D) CH3COCH3(1) ~ 3 C(graphite) + 3 H2(g) + Yz 02(g) 
E) CH3COCH3(1) + 4 02(g) ~ 3 C02(g) + 3 H20(g) 

2. (2 Pts) An endothermic reaction causes the surroundings to 
A) warm up. 
B) become acidic. 
C condense. 

decrease in temperature. 
) release CO2. 

3. (2 Pts) Which of the following has a Aff0 r= 0 kJ/mol? 

A) C02(g) B) 03 C) CI-(aq) D) NH3(aq) @ 
4. (6 Pts) The value of LiH0 rxn for the following reaction is -6535 kJ/mol. 

2C6H6(1) + 1502(g) ~ 12C02(g) + 6H20(g) 
How many kilojoules of heat will be evolved during the combustion of~16~.0~.u,u.,....~ ...... ---

lb•O ~rttt t;535~T = 
7&:I~~ J~6 

5. (6 Pts) Calculate the enthalpy for the reaction: (Show all work) 
C2H2(g) + 2H2(g) ~ C2H6(g) 
Given: 

0) 2C2H2(g) + 502(g) ~ 4C02(g) + 2H20(g) LiH = -2320 kJ/mol 
<r2. 2C2H6(g) + 702(g) ~ 4C02(g) + 6H20(g) LiH = -3040 kJ/mol 
Cl) 2H2(g) + 02(g) ~ 2H20(g) LiH = ~572 kJ/mol 

c*r\j._: r~CD:i CJ.li~fl) + ~~1 ..,,,.~ ~ - l/CO A:r 
H1. ~ £i~ ui1 .;t.ff~~) + ~ "?' J.-l+i-1>(2) - 5 n. 1T 

~ ~&J~ r;";i'.'.'~~~ +~ -:,, C:,.Hbru..! ~ t / 5 J-0 .T 

c do- H .. ~) ,.. ~ tl.i. 0 J ... c ,._ H ~ ~ > (!i 1-1 == - ,;v ?.. ki) 
6. (6 Pts) The enthalpy of combustion of acetylene C2H2 is described by 

C2H2(g) + (5/2)02(g) ~ 2C02(g) + H20(l) LiH0 rxn= ?I 
Calculate the enthalpy of combustion of acetylene, given the following enthalpies of formation 

LiH0 f[C02(g)] = -393.5 kJ/mol LiH0 f[H20(l)] =-285.8 kJ/mol LiH0 f(C2H2(g)] = 226 kJ/mol 

L1 l+~r~tv :::. 'Z' A f+~-t,>'.l 1.1.c., +, - 2' tJ ~ re~J-0 ... :rd-1 C:, .. -- i:;:) 

6 »~~1J ==- [1C-3<f15)+C-~&s.6'2- [uc;J =Q~9§,80 


